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I Semester B.A./B.Sc. Examination, February/March 2023
(NEP Scheme)
PSYCHOLOGY (Paper - 1)
Foundations of Psychology

Time : 2V2 Hours Max. Marks : 60

Instructions : 1) All three Parts are compulsory.
2) Answer must be written either in English or Kannada.

PART - A
R -

|l Answer any 6 of the following questions. Each answer carries two marks. (6x2=12)

CIRRPTRTTR &L T,IN9T w0302, B8 CVZTER, QT LS0FMT0.

1) Define Psychology.
TODRLNTTBI) 539,83, 4.

2) Mention perspectives of Psychology.
TORRERTIT T, ABREINTTD ST01.

o D) of

3) Mention the neurotransmitters.
sdmmsééﬁvsg TROA.

4) What is span of attention ?
VRTIT 3, L QOTTEO ?

5) Mention types of reinforcement.

PIWFOTT B, TIONTZ, THOA.

6) What is conditioning ?
BOWOTE 0TBER 2
7) What is shaping ?
CRARINE R0TTeD ?
8) What is mnemonics ?
0, BRAT (F 8 303,1sh) woTSed ?
2 ~ <
9) Define memory.

-t S = R
~ G000 W9, 809, A,
& < 3 2

P.E.©:
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PART - B
Wn-
Il. Answer any 4 of the following questions. Each answer carries six marks. (4x6=24)
CIRRTITTR FLY, BINOT WSO, B8 QUZTER, ST LOTM.
1) Explain the goals of Psychology.
BRI IT ROONYO, IO
2) Explain Humanistic perspective.
SRTHT T AFRCTTR, DFOR.
3) Explain spinal cord.
3P0 DOATBRY, WWOR.

4) Explain depth perception. e ~
o9 T8, 5 DPTTR mOR. /,, P 2o ;
5) Explain trial and error learning. / ;' VR
3,038 302 FRER FOFOD) D[OR. i 91
=4 =] .4 { - L 4 ._j;;"} Y e
6) Explain basic processes of memory. S wet T~
3 30D Bopo B3,050n¢E) LE0A. TR
e
PART -C
R =2

Il Answer any three of the following questions. Each answer carries eight marks. (3x8=24)
IR TTOTTLR TNT @e;;ﬁs? SVSOR. F,3 emgcsafat SO’ LSOTNED.
1) Explain the fields of study of Psychology.
IRCNDIT 7,00 T68,NTRY LBOA.
~ ) b ES
2) Explain the various methods of studying brain.
OTFR, 953, 00T BREIT WHIBNTIY, el
3) Explain the errors in perception.
B8, R RPBT TREFNTRY, LI0R.
4) Explain Pavlov's calssical conditioning.

\

39,55 C0e BRT TR L0 WRIWOTTRRY, WWOA.
o =2 & o

5) Explain the nature and causes of forgetting.
27 ,80d ATRT W2 FOULINTD RO,

=8




